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Lines intersect at one point only. W 2 &MO&Q_’/MJ’? -----------------------
a) five b) three a) &L b) &
c) four d) two c) /b d) »

* Two lines can intersect onlyat  point: (JF L7 dj’{ﬁd‘ ------------------------ b
a) 1 b) 2 a) 1 b) 2
c) 3 d) 4 c) 3 d) 4

> In which quadrant of the coordinate db%(’}zdf L5 ...‘;':;3.'.5;@/(— 5,-2)5
plane the point (- 5, - 2) lie: e
a) I b) II a) 1 b) II
c) III d) IV c) 1II d) IV

* Point (- 8, - 8) lies in the quardrant ...... ?-%-J éJC-L')ﬁ’/ (-8 ,-8)L
a) IV b) 11 a) IV b) II
c) III d) I c) Il d) I

> A quadrilateral having each angle to 90’ ./T‘-d U»‘_/. ..... L 90;3')(&:‘&4

1s called:
a) Parallelogram b) Trapezium
¢) Rectangle d) Rhombus

¢ Distance between points (0 4-&8)and (0,

a) 0 b) 5
c) -5 d) 25

A closed figure consisting of three
non-collinear points is called.

a) Triangle b) Square
c) Rectangle d) Circle
& A Ray has end points:
a) 1 b) 2
c) 3 d) 4
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a) Leulgi#  b) )7

c) JF d) o=
0) -l (0,0).(0, - 5)bE
a) 0 b) 5
¢) -5 d) 25
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a) 1 b) 2
c) 3 d) 4



